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RIEEX
B &
BA BROBEE HREMHE RARFE HOKE REERA my
FHET FHET FHET FHET FHET FHET FHET
R-BZT_§+H—H
(R X 3R) 32,640 21,950 (420) (1,766) — 108,170 160,574
R et B ERE125
(& &7 2w & - - - - 629 629
R-BT_€+H—H
(E 5 32,640 21,950 (420) (1,766) — 108,799 161,203
PR ER FE AR i F - - - - 1,921 1,921
—TTFRERE - - - - (3,219) (3,219)
& 1B % 19 (450) (2,902 - 450 (450)  (3,352)
ER =R - - (787) - - — (787)
R-ZTT=F=F=+—H 32,190 19,048 (1,207)  (1,768) 450 107,051 155,766
RISEX
'
BA ROBE RRME REARE BEMHE E4HRE REREA k]
FHxT FHExT FHxT FHxT FHExT TFTET FTHET FTHET
R-ZZET=F+A—H
(BEHR) 32,190 19,048  (1,207)  (1,766) 450 — 91,620 140,335
et B ERE125%
(BET) 28 - - - - - - 3,316 3,316
R-ZZET=F+A—H
(E3) 32,190 19,048  (1,207)  (1,766) 450 — 94,936 143,651
PR ER R A5 0 T - - - - - - 1,343 1,343
—TE=FRERE - - - - - - (3,391)  (3,391)
B & IR 2 PRSI 1,500 6,000 - - - - - 7,500
B E 2R 19 2 F X - (305) - - - - — (305)
fERHE 21718 222 931 - - - - - 1,153
—HEREWMEEM - - - - - 201 - 201
ERER - - 180 - - - - 180
RZZETZWMF=A=+—H 33912 25674
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